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SECTION-A
REASONING

Directions: (Q1-2)In the following questions, four out
of the five alternatives are same in a certain way and
soformagroup. Findthe odd onethat doesnot belong
to the group .

1.

(A) HM (B) OQT
(C) BDG (D) VXZ
(A) 26 (B) 124
(C) 728 (D) 64

In a code language, if BEAT is coded as 5642
and SWEET is coded as 66912, how would you
code TEASE?

(A) 96162
(C) 96625

(B) 56264
(D) 55296

Directions : (Q4-5)According to a certain code
language, words in column | are written in capital

letters and in column |l their codes are given. The

codes in column |l are jumbled up. Decode the

language and choose the correct code for the word
given in each of the questions that follow.

Column -1 Column - 11
(1) CHAIN (a) acmvq
(2) FRAIL (b) pngal

(3) TEAM (c)wjqd

(4) DESTINY (d) xwtjazc
(5) TOIL (e agl

(6) VARY (f) gbzn

(7) NAUGHTY (9)iqcfvz

4.

DAILY

(A) agzla (B) alzqi
(C) lzgat (D) agtzc
TEAR

(A) ngjw (B) gwmc
(C) jwac (D) fjew

Directions : (Q6-9)Study the following information

carefully and then answer the questions that
follow.

A blacksmith hasfiveiron articlesA, B, C, D and
E each having a different weight.

(i) A weighs twice as much as B.

(ii) B weighs four and half times as much as C.
(iii) C weighs half asmuch as D.

(iv) D weighs half as much as E.

(v) E weighs less than A but more than C.

Eislighter in weight than which of the other two
articles?

(A)A,B (B)D,C

(©OA,C (D)D, B

E is heavier than which of the following two
articles?

(A)D,B (B)D,C

(©OA,C (D)A, B

Which of thefollowing isthe heaviest in weight?
(A)A (B)B

©cC (D) D

Which of thefollowing represents the descending
order of weights of the articles?
(A)A,B,E,D,C (B)B,D,E,A,C
(C)A,B,C,D,E (D)C,D,E,B,A




10.

11.

12.

After walking 6 km | turned right and covered a
distance of 2 km, then turned left and covered a
distance of 5km. Intheend, | was moving towards
thenorth. Inwhichdirectiondid| start thejourney?

(A) North (B) South

(C) East (D) West

In a class, the names of boys are arranged
a phabetically. Gaurav and Saurabh have 14 boys
between them. If Gaurav is37th from the bottom,
Saurabh would be at what position from the top?
(A) 25th (B) 28th

(C) 27th (D) Can’t be determined
How many 6sin the series are preceded by 5 but
not followed by 9?

568676565685965696865568659569568
(A)4 (B) 6
©7 (D)5

Directions : (Q13)Following questions are based on

13.

the information given below:

1. ‘PxQ’ means ‘P is the father of Q’

2. ‘P—Q’ means ‘P is the sister of Q’

3. ‘P+Q’ means ‘P is the mother of Q’

4, '‘P+Q’ means ‘P is the brother of Q’

Which of the following represents “J is the son of
F?

(A)J+R-TxF B)J+R-TxF
(C)J+M-NxF (D) None of these

Directions : (Q14)The question below consist of a
question followed by two statements labelled as | and
I1. You have to decide if these statements are sufficient
to conclusively answer the question. Give your answer
as:
(A) if statement | alone is sufficient to answer
the question;
(B) if statement Il aloneis sufficient to answer
the question;
(C) if statement | and |1 together are needed to
answer the question;
(D) if statement | or Il alone are sufficient to
answer the question;

14. Who is older — Ritu or Situ?

|. Situ was born in the year 1980 and is 5 years
younger than Ritu’s brother.

Il. Ritu istwice as older as her brother.

15. How many rectangles are there in the figure
below?
(A) 6 (B)7
©s8 (D)9




SECTION-B
SCHOLASTICAPTITUDE

16.

17.

18.

In fig. two boys A and B are shown applying force

on a block. if the block moves towards the right,

which one of the following statementsis correct?

(A) Magnitude of force applied by A isgreater than
that of B.

(B) Magnitude of force applied by A issmaller than
that of B.

(C) Net force on the block is towards A.

(D) Magnitude of force applied by A isequal to that
of B.

Whenever the surfaces in contact tend to move or

movewith respect to each other, theforceof friction

comesinto play

(A) onlyif theobjectsaresolid.

(B) onlyif oneof thetwo objectsisliquid.

(C) only if oneof the two objectsis gaseous.

(D) irrespective of whether the objects are solid,

liquid or gaseous.
Alist of mediumsisgiven below.

(i) wood (i) air

(i) water (iv) vacuum

In which of these mediums can sound travel?
(A)i&iionly (B)i,ii & iii only
(©iii & ivonly (D) ii, iii & ivonly

19.

20.

21.

22.

23.

24.

An electric current can produce

(A) heating effect only.

(B) chemical effect only.

(C) magnetic effect only.

(D) chemical, heating, and magnetic effects.

An electroscopeisadevicewhichisused to find if
anobjectis

(A) charged (B) magnetic

(C) free of cracks (D) hot

Part of the eye which controls the light entering is
caled

(A)iris (B) cornea
(C) lens (D) retina
Morning star isthe name given to

(A) pole star (B) star sirius

(C) planet jupiter (D) planet venus

A quantity has avalue of -6.0 m/s. It may be the
(A) speed of aparticle

(B) velocity of aparticle

(C) acceleration of aparticle

(D) position of aparticle

The distance-time graph of a car is shown.
What is the speed of the car?

y
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(A) 2.5 m/s (B) 5.0 m/s
(C) 10.0m/s (D) 20.0 m/s




25.

26.

27.

28.

29.

30.

31.

32.

33.

A gun recoils after firing to conserve

(A) velocity (B) momentum

(C) force (D) speed

While dusting a carpet we suddenly jerk or beat it

with a stick because

(A) inertiaof rest keepsthe dust in its position and
the dirt is removed by moment of the carpet
away

(B) inertiaof motion removesthedirt

(C) no inertia is involved it is due to practical
experience

(D) none of these

Which of thefollowing is carried by thewavesfrom

one place to another -

(A) mass (B) velocity
(C) wavelength (D) energy
Thevelocity of soundislargestin -
(A) water (B) air

(C) metal (D) vacuum

Two plane mirrors are arranged such that their
reflecting surfaces are parallel and face each other.
When an abject is placed between them the number
of images formed are

(A) 2 (B) infinite

(©3 (D) 4

Thetwinkling of starsat night is caused by

(A) Reflection of light

(B) Refraction of light

(C) Dispersion of light

(D) Polarization of light

Pick the synthetic fibre out of thefollowing?

(A) Cotton (B) Nylon
(C) Jdute (D) Wool
Which of the following isnot ametal ?
(A) copper (B) sulphur
(C) duminium (D)iron

Various materials which are obtained from nature
Arecalled natural resources. Which of thefollowing
is not anatural resource?
(A) minerals

(C) ail

(B) water
(D) plastic

34.

35.

36.

37.

38.

39.

40.

41.

A substance which reacts with oxygen giving heat

is caled a combustible substance. Which, one of

the following isacombustible substance?

(A)ironnall (B) glass

(C) stone piece (D) woaod

Air isamixture of various gases. One of the gases

iS21% part of theair and isessential for thesurvival

of human beings. Thisgasis

(A) nitrogen (B) oxygen

(C) ozone (D) argon

Which out of the following does not make sense.

(A) Solidshavefixed shape and fixed volume.

(B) Liquids can be compressed easily, but not
gases.

(C) The particles of solids have negligiblekinetic
energy.

(D) Property of diffusion is maximum in the gas-
€eous state.

On changing which of the following, the states of

matter can be changed ?

(A) Temperature (B) Pressure

(C) (A) & (B) both (D) None of these

Non-reacting gases have atendency to mix with each

other. This phenomenon is known as —

(A) chemical reaction (B) evaporation

(C) diffusion (D) explosion

The electronic configuration of an atom is 2, 8, 2.

The number of valence electronsin theatomis

(A) 10 (B) 12

€8 (D) 2

The nucleus of an atom contains -

(A) neutrons and electrons

(B) protons and electrons

(C) protons and neutrons

(D) protons, neutrons and el ectrons.

Wood charcoal is used in gas masks because it
(A) has good smell

(B) dissolves poisonous gases

(C) adsorbs poisonous gases

(D) reacts with poisonous gases




42.

43.

44,

45,

46.

47.

48.

49.

Hydrocarbons having double or triple bonds are 50.

known as

(A) saturated hydro carbons

(B) unsaturated hydrocarbons

(C) alkenes

(D) chalcogens

Crystallineform of carbon having 60 carbonsatoms
joined together

(A) polymer

(B) buckminster Fullerene

(C) cod (D) diamond

The ratio of the number of hydrogen atoms and
those of oxygen in water is -

A)2:1 B)1:2

C2:2 (D) None of these
Which of thefollowingisnot the attribute of agood
fuel?

(A) Low calorific value

(B) Moderate rate of combustion

(C) Fairly cheap and easily available

(D) Safeto handle, store, and transport 53.

Which one of thefollowing conditionisnot essentia
to grow maize?

(A) High temperature (B) Humidity

(C) Low temperature (D) Rainfal

Which of thefollowing reproducesonly inside ahost
cell?

(A) Bacteria (B) Virus

(C) Amoeba (D) Fungus.

Wild buffalo is an endangered species because

(A) itspopulation isdiminishing 54.

(B) it has become extinct

(C)itisfound exclusively in aparticular area

(D) itspoachingisstrictly prohibited

Choose the correct statement with respect to

unicellular organisms:

(A) in unicellular organisms, tissues work in
co-ordinationto perform different functions.

(B) unicellular organismsdo not requirefood.

(C) unicellular organismsrespire and reproduce.

(D) all unicellular organismsmoveby cilia.

51.

52.

Setsof reproductive termsare given bel ow. Choose

the set that has an incorrect combination.

(A) sperm, testis, sperm duct, penis

(B) menstruation, egg, oviduct, uterus

(C) sperm, oviduct, egg, uterus

(D) ovulation, egg, oviduct, uterus

Thebelief that themother iscompletely responsible

for the sex of the child iswrong because the child

(A) getssex chromosome only from the mother.

(B) developsin the body of the mother.

(C) getsone sex chromosome from the mother and
the other from the father.

(D) gets sex chromosome only from the father.
Brooders are meant for

(A) Protecting young ones from enemies

(B) Yielding meat

(C) Supplying warmth to incubating eggs

(D) Yielding high proteinaceous eggs

The shape of the bacteria shown in the figure

(A) Bacilli (B) Cocci

(C) Vibrio (D) Spirillum

Cutting down forests and using the land for other
purposes is known as deforestation. It has adverse
effects on the environment. Which of the
following are correct regarding these effects ?

(i) Decreaseinsoil erosion

(i) Increase in temperature

(i) Ground water level getslowered

(iv) Droughtsand floods

(v) Increaseinwater holding capacity of the soil
(A) (1), (i), (iii) & (iv) ~ (B) (ii), (iv) & (v)

(C) (i), (i) & (iv) (D) (), (i), (iv) & (v)




55.

56.

57.

58.

Statement | : Prokaryotes have acell wall, eukary-

otes do not

Statement |1 :Prokaryotes have atrue nucleus, eu-

karyotes have a primitive nucleus.

(A) Both statement | and statement 1l are true and
statement Il isthe correct explanation of state-
ment |

(B) Both statement | and statement 1l are true but
statement 1l is not the correct explanation of
statment |

(C) Statement | istrue but statement Il is false

(D) Both statement | and statement Il are false

A cell isconsidered to be afundamental unit of life

because .

(A) It hasvarious organelles

(B) Anorganism is made up of cells

(C) Itisthe smallest structure that exhibits growth,
metabolism, self regulation and self duplication

(D) No smaller unit has yet been tested by scien-
tists so far

Read thefollowing paragraph and choose the correct
sequence of words to be filled in the gaps of the
paragraph.
The changes which occur at adolescence are
controlled by . These are secretionsfrom
glands. The ___ beginsto release from the testes
at the onset of puberty. Once puberty isreached in
girls, ovariesbeginto produce . Theproduction
of these hormones is under the control of another
hormone secreted from ___ gland.

(A) Chemica substances, thyroid, insulin, adrendline,
endocrine

(B) Hormones, endocrine, testosterone, estrogen,
thyroid

(C) Chemical substances, pituitary, sperms, ovules,
thyroid

(D) Hormones, endocrine, testosterone, estrogen,

pituitary

Refer the given graph of menstrual cycle. What

happens after day 28 ?

Thickness of

59.

60.

61.

62.

uterus lining

Time (days)
(A) Ovulation (B) Implantation
(C) Menopause (D) Menstruation

Fertilization resultsin the formation of zygote. The
zygote dividesrepeatedly to giveriseto asolid ball
of cellswhichiscalled

(A) Foetus (B) Ovum
(C) Morula (D) Blastula

Which of the following pairs of hormones control
the onset of puberty in boys and girls respectively?

(A) Thyroxineandinsulin

(B) Estrogen and progesterone

(C) Testosterone and estrogen

(D) Estrogen and testosterone

With Rs. 1,000, one can buy 4 pairs of trousersor 8
shirts. What isthe amount required to buy 3 pairs of
trousers and 3 shirts ?

(A) Rs. 1125 (B) Rs. 1015

(C) Rs. 1115 (D) Rs. 1105
Ifa:b= 2:3andx:y= 3: 4, the value of
4ay —3pbx

5ax — 2by 'S

A § B) —<

() 3 B) ¢

C ﬂ D) —

© ¢ ()




63.

64.

65.

66.

67.

The value of (a® + a'®) (a’® — a*®) (& + a')
(@2 +a'?)is:

years. The differencein the interestsisRs 72. Find
thetotal sum (in Rs).

(A) 180 (B) 360
(A) (a+a’) (B) (a-a”) (C) 240 (D) 270
©) (& + a? (D) (&¢—-a? 68. A bicyclewheel makes 5000 revolutionsin moving
A general arranges his soldiers in rows to form a 11 km. The diameter of the wheel is
: L . (A) 50 cm (B) 60 cm
perfect square. Hefindsthat in doing so 60 soldiers (C) 70 cm (D) 80 cm
areleft out. If the total number of soldiers be 8160. 69. Water flowsout through acircular pipewhoseinternd
Then the number of soldiersin eachrow is: diameter is 2 cm, at the rate of 6 metres per second
(A) 90 (B) 91 into acylinderical tank, the radius of whose baseis
(©) 92 (D) 80 60 cm. By how much will level of water risein 30
o ) minutes ?
Theunit digitinthe product (327)'?is: (A) 2m (B) 3m
(A)9 (B) 7 (©)4m (D)5m
©) 1 (D) 3 70. Two numbers are selected at once from the set of
from the centre of a circle. The length of another of the numberswill be 24?
chord at a distance of 2 cm from the centre of the
circleis A) T (B) 2an
(A) 12cm (B) 14 cm 190 380
(C)16cm (D) 18 cm 4 3
A sumissplit into two equal parts. One of the parts © o5 (D) o5
islent at smpleinterest at 20% p.a. for 6 years. The
other partsislent at 40% p.a. simple interest for 2
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